FEAANZ BN R/ Y —

86 HATFE, NEY, RERZE FEIERMES

< MEOHIEDBR [BERE] x/r  [EE] dhk  [RE] dookxk

[E25] DT, I XRTOMWICEWTHERZEM (Q, U, P) ETEZ L. (Q, U, P) LOMEREH
%ﬁK%@@%W&;g.%Xﬁﬁxmﬂtf,%@%%@%Mm::/Xﬂa%ﬁ%
var[X] := E[|X — E[X]]?] T%T. ’

1, z€A

Fz, BH AL 14(2) = ) TADREBIBZ R T, exp(z) =" EFH L,
0, =z¢ A

(K ¥rvr)(Variant Chebyshev)

X ZHERERET S, TEDN >0 EFE B I LT

Elexp(AX)]

P[X 2z] exp(Az)

A

DR DD & ZRE,

(Fk k% %)(Laplace Zih)
X ZHERER, 5,0 € (0,00) ET 5, XD3O,(0) UTFTHrZ L%

X 0,00) < Eexp((07'X3)%)] £2

KXo TERT S, 7220, X, = max{X,0} 1Z X DIEHIHRDZET. TOLE, DITD (1),(2)
ZRE

(1) fEED s € (1,00) IZH LT, sIKFT HEC =C(s) BFELT
X<0,(1) = VYA>1, logE[exp(AX)] < ONeT,

(2) fFEED s e (1,00) BEION EEDNZ 1ITHL T,

s

logE[expAX)] <A77 = X<0,2%)or X <2



